5 Shelf Bookcase

‘NBF I ASSEMBLY INSTRUCTIONS
000 TT—

Congratulations on the purchase of your new Signature Series product!

COMPONENTS
(A) Front Metal Leg - 2pcs Back Metal Leg -1pc (C) 'V MntgPlate 1 (D) V Mntg Plate 2
- 1pc - 1pc
(E) V Bracket -1pc Shelg;’s\:el 1 G Shelf1PaneI 2- (H) Bottom Panel-1pc
] be

HARDWARE & TOOLS

Phillips Screw Screw @4X25mm Phillips Screw M8 Leveler-5pcs .
B M6X12mm-14pcs 9 -29pcs M6X30mm-3pcs L P Tools Required for Assembly
_@)
) SA /AW
Nylon Tape 16X1 2 . .
200*1mm-1pcs (N) Spacer @16X1mm-2pcs Philips Screw Driver for

(1) Phillips Screw M6X12mm

J) Screw @4X25mm

K) Phillips Screw M6X30mm

INSTRUCTIONS - We don’t recommend using power tools when installing Cam Posts.

|
ALBCS5




5 Shelf Bookcase
‘ NBF ASSEMBLY INSTRUCTIONS
T ——

Congratulations on the purchase of your new Signature Series product!

INSTRUCTIONS

STEP 3 STEP 4

COMPLETED

Due to the various wall construction methods,lt is
up to a professional installer to secure the Nylon
Tape(M) Bracket to the wall with the proper

fasteners and/or anchors as required by the wall
construction at the desired mounting location.

Wall /

AW

|
ALBCSS




	图纸和视图
	模型

	图纸和视图
	模型


